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MA in Psychology
1 | The boy was cured ______ typhoid.
a)from | b)of | o)for | d)through  |b | of
2 | Sudeep got as an officer in the State bank of India.
a)appoint | b)appointed ‘ ) appoints | d)appointee ‘ b ‘ appointed
3 | They listened to him
a) spellbind b)spellbinded C) d) spellbound | d spellbound
spellbinding
4 | Select the correctly spelt word
a)commiety | b)comittee ‘ ¢) committee | d)commitee ‘ c ‘ committee
5 | Did you speak to Sumita? No, ['ve seen her.
a) hardly | b)nearly ‘ c)often | d)always ‘ a ‘ hardly
6 | The doctor gavemea ______ for some medicine yesterday.
a) prescription | b) note ‘ c) recipe | d) receipt ‘ a ‘ Prescription
7 | Find the word with the opposite meaning of ‘KINDLE’
a) ignite | b) ignore ‘ ) encourage | d) extinguish ‘ d ‘ extinguish
8 e ek . CAe OT e ==_'==” ’ Missing question No. 8
a}eeﬂ{en%men{ b?-gﬂ%f %) o elé—bea&tade b 1 mark will be added
Feptctation
9 | Which is the longest pause’?
a) Apostrophe | b)Dash ‘ c)Hyphen | d)Full stop ‘ B ‘ Dash
10 | Please give me a of paper
a) Peice | b)Piece ‘ c) Piese | d)Peace ‘ B ‘ Piece
11 | Which one of the following pairs is not correctly matched?
a) Kota — b) c¢) Jabalpur — | d) Surat -- b Bhubaneshwar -
Chambal Bhubaneshwar | Narmada Tapti Mahanadi
-Mahanadi
12 | The world is divided into:
a) 12 time b) 20 time ¢) 24 time d) 36 time c 24 time zones
zones zones zones zones
13 | Among the following cities, which one is nearest to the Tropic of Cancer?
a) Kolkata ‘ b) Delhi | c¢) Jodhpur ‘ d) Nagpur ‘ a | Kolkata
14 | Which one of the following countries is called the Country of white elephants
a) Bangladesh | b) Nepal ¢) Bhutan d) Thailand d Thailand
15 | The longest dam in India is
a) Bhakra Dam | b) Nagarjuna ¢) Hirakud d) Kosi Dam | ¢ Hirakud Dam
Sagar Dam Dam
16 | Who is appointed as the CEO and the MD of Air India in 20227




a) Campbell b) Naresh ¢) Ajay Singh | d) a Campbell
Wilson Goyal Ronojoy Dutta Wilson
17 | Who has been appointed as the 25™ Chief Election Commissioner of India in May 20227
a) Kiren Rijiju | b) Sushil ¢) Sukumar d) Rajiv d Rajiv Kumar
Chandra Sen Kumar
18 | In which year, Mizoram was granted Indian statehood?
a) 1982 | b) 1977 | ©) 1987 | d) 1972 ¢ ] 1987
19 | Which Union Ministry implemented the 'PM MITRA' Scheme?
a) Ministry of | b) Ministry of | ¢) Ministry of | d) Ministry of | c Ministry of
External Home Affairs | Textiles Defence Textiles
Affairs
20 | Netflix India has released the "Women Change-Makers' Video Series" in collaboration with
which ministry?
a) Ministry of | b) Information | ¢) Ministry of | d) Ministry of | b Information and
Tribals and Education Home Affairs Broadcasting
Broadcasting Ministry
Ministry
21 | A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walk 5, 15 and 15 m respectively. How far is he from his starting point?
a) 20m |b)15m | ©)10m |[d)5m |d  [5m
22 | A sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A is
related to D as
a) Grand b) daughter c¢) daughter- d) sister a Grand daughter
daughter in-law
23 | Assertion (A) : Bronze is used for making statues.
Reason (R) :Bronze is an alloy of copper and tin.
a) Both A and | b) Both Aand | c) Ais true d) A is false a Both A and R
R are true but | R are true and | but R is false | but R is true are true but R is
R is not the R is the correct not the correct
correct explanation of explanation of
explanation of | A A
A
24 | The sum of the ages of two persons A and B is 50. 5 years ago, the ratio of their ages was
5/3. The present age of A and B are
a) 30, 20 | b)35,15 | ©)38, 12 | d) 40, 10 la  [30,20
25 | Assertion (A) : Passengers in a boat are not allowed to stand.
Reason (R) : This may raise the centre of gravity of the boat .
a) A is true b) A is false c¢)Both A and | d)Both Aand | d Both A and R
but R is false | but R is true R are true but | R are true and are true and R is
R is not the R is the the correct
correct correct explanation of

explanation of
A

explanation of
A

A




26 | Psychology is said to be the scientific study of ______ and
a) Behavior, | b) Mental | ¢)  Physical | d)mental Behavior,
mental illness, Mental | states, mental | health mental
processes health states processes
27 | Who is the father of Experimental psychology?
a) Wilhelm | b) G. Jung ¢)Sigmund d)Erikson Wilhelm Wundt
Wundt Freud
28 | Which of the following is another term for reinforcement?
a)Condition b) Reward c¢) Response d)Feedback Reward
29 | People lost their touch with reality when they are _
a) Psychotic b) Manic ¢) Neurotic d) Bi polar Psychotic
30 | Which of the following facial expression is recognized
universally?
a)Raised b)Pursed lips | ¢) Smiling d)Frowning Smiling
eyebrows
31 | The introspection method is rejected by
a) Cognitive b)social- c) d) behaviourism
cultural Functionalis | behaviourism
m
32 | Humans think using
a) Emotions | b)Emotions c)Feelings d)Mental Mental images
and feelings and images and concept | images and and concept
concept
33 | Who gave the concept of collective unconsciousness?
a)Sigmund b)Carl Jung c)Adler d)Sternberg Carl Jung
Freud
34 | The pleasure principle is related to ----
a)Ego b)Superego o)ld d)unconsciou ID
sness
35 | Who is the psychologist who constructed the first intelligence
test?
a)William b)J.B. Watson | c¢)Alfred d)Sigmund Alfred Binet
James Binet Freud
36 | Archetype is a terminology associated with .
a)Freud ‘ b)Skinner ‘ c)Jung ‘ d)Adler Jung




37 | Who is the valuable contributor in insightful learning?
a)Throndike ‘ b)Kohler ‘ c)Skinner ‘ d)Watson Kohler
38 | Which school of thought explained the laws of perception?
a)Cognitive b)Gestalt c)Behavioris | d)Psychoanal Gestalt
m ytic
39 | In which University first psychological laboratory was
established in India?
a)Delhi b)Allahabad c)Calcutta d)Gauhati Calcutta
University University University University University
40 | According J. B Watson, ‘Psychology is a
Science of .
a)Mind ‘ b)Soul ‘ c)Behavior ‘ d)Object Behavior
41 | Which research method can establish causal relationship between
variables?
a)Correlation b)Experimenta | c)Observation | d)case study Experimental
research 1 research al research research research
42 | National Education Commission 1959 was established under the
headship of?
a) Fazal ur b) Liaqgat ali ¢) S.M Sharif | d) Abdul rub S.M Sharif
Rhman khan nishtar
43 | Which is not the nature of education?
a) Education is | b) Education ¢) Education | d) Education Education is a
a person is a lifelong is a product is growth person
process
44 | The word sociology is derived from
a)Society and | b) Society and | c)Socious and | d)Socious and Socious and
logus study logos Study logos
45 | Auguste Comte wasa .................. sociologist
a) French ‘ b)American ‘ ¢) British ‘ d)German French
46 | What is the meaning of the term socious in the word sociology?
a)Companion ‘ b)collection ‘ c) Herd ‘ d)consensus Companion
47 | What can one imply from the ageing population?
a) Population b) Population | c) Population | d) National National Health
momentum explosion policy Health Policy Policy
48 | Among the following, the system grounded in stereotypes is:
a) inclusion b) Reservation | ¢) d) Prejudice Prejudice
Accommodati
on
49 | Discrimination and exclusion of people is not on the basis of:
a) Family b)class c) caste d)Gender Family system
system
50 | Factors not responsible for the caste system in the contemporary

period:

a) Expansion

‘ b) no inherited

B

| d) Subsidised

no inherited




of state sector | educational or | opportunities | public educational or
jobs after economic offered by education economic
independence | capital rapid capital
development
51 | In what form of a family does the newly married couple stay with
the groom’s parents?
a) Patrilocal b) Neolocal ¢) Matrilocal | d) Patrilocal
Avunculocal
52 | Woman liberation anthropologists show that there is no
difference
a) with women | b) Women and | ¢) Men and d)Girls and Women and
and girl men boys boys men
53 | The anthropological outlook does not include
a) Cross- b) holism c)ethnocentris | d) cultural ethnocentrism
cultural study m relativism
54 | The perspective that all feature of a culture must be work in
connection with each other is
a) Cross- b) holism c) d) cultural holism
cultural study globalization | relativism
55 | The viewpoint that you can recognize or judge another culture in
terms of your own culture is called
a) cultural b)ethno- ¢) cultural d)ethno- ethnocentrism
relativism centrism anthropology | cultural
56 | The mastery of faith worth point of view and actions in the
environment is all about
a) Culture ‘ b)story ‘ c¢) By birth ‘ d)Ecology Culture
57 | Oldest Known stone tool was found in
a)Kenya ‘ b)China ‘ c)Tanzania ‘ d)Indonesia Kenya
58 | J. M Tanner is known for his landmark studies in the field of
a)Biochemical | b)Auxology c)Forensic d)Social Auxology
genetics Anthropology
59 | Which among the following is India’s Oldest Joint Stock Bank?
a) Bank of b) Allahabad ¢) Bank of d) State Bank Allahabad Bank
Baroda Bank India of India
60 | Which among the following is not a part of factor of production?
a) Labour ‘ b) Wages ‘ c) Capital ‘ d) Land Wages
61 | Which country is major Handloom producer in the world?
a)China | b)India | c)Bangladesh | d)Pakistan India
62 | Which country has the largest number of internet users in the
world?
a)India | b)China | 0USA | d)Japan China
63 | What is the number of Schedules in Constitution of India?
a)12 | b)8 | ©)10 | d)11 12
64 | In the name of which among the following Mughal emperors, the




East India Company struck the first coins in India?
a) Jahangir b) c) d) Jahandar Farrukhsiyar
Farrukhsiyar Muhammad | Shah
Shah
65 | Who became the first Governor General of the new dominion of
India?
a) Lord b) Clement c¢) Rajendra d) C. Lord
Mountbatten Attlee Prasad Rajagopalach Mountbatten
ari
66 | The permanent settlement of Bengal was started in which year?
a)1772 | b)1790 | ©)1793 | d)1798 1793
67 | How many times did Vascoda Gama come to India?
a)5 | b)3 IBY | d)2 B Three times
69 | Simple | Which one of the following countries is a South Asian country?
a)Japan | b)USA | ¢)China | d)Pakistan | d | Pakistan
70 | Simple | World Environment Day is celebrated each year on:
a)5 March | b)5 June | ¢) 5 January | d)5 August | b | 5 June
71 | Simple | One of the features of modern society is
a)specialization | b)face to face ¢)urbanization d)agricultural | ¢ | urbanization
of work interaction of and factory production and factory
members production production
72 | Simple | Who wrote the book "Sociological Imagination"?
a)C.W. Mills | b)August Comte | c)Max Weber | d)Karl Marx | a | C.W. Mills
73 | Simple | Which thinker proposed a theory where living organisms evolve or change slowly over several
centuries or even millennia, by adapting themselves to natural circumstances.
a)Darwin | b) Spencer | ¢) Einstein | d) Comte | a | Darwin
74 | Simple | The National Rural Employment Guarantee Act was introduced in the Year _____
a) 2002 | b) 2003 | c) 2004 | d) 2005 | d | 2005
75 | Simple | Identify the structure of the family where men exercise authority and dominance
a) Patriarchy | b) Matriarchy | c¢) Polygamy | d) Patrilineal | a | Patriarchy
76 | Simple | Gandhiji took back Non-Cooperation movement in
a) January 1922 | b) February 1921 ¢) January 1922 | d) February d | February 1922
1922
77 | Simple | Dandi March brought forward
a) Non- b) Civil ¢) Quit India d) Rowlatt b | Civil
Cooperation Disobedience Movement Satyagraha Disobedience
Movement Movement Movement
78 | Simple | Sanchi Stupa is situated
a) near to b) near to Indore c) near to Agra | d) near to | a | near to Bhopal




Bhopal | | Delhi | |
79 | Simple | The successor of Babur was
a) Jehangir | b) Shahjahan | ¢) Akbar | d) Humayun | d | Humayun
80 | Simple | Who was known as Frontier Gandhi?
a) Maulana b) Sheikh Abdullah ¢) Khan Abdul d) Nawab ¢ | Khan Abdul
Abul Kalam Gaffar Khan Salimmullah Gaffar Khan
81 | Simple | Who Introduced Permanent Settlement in Bengal?
a) Lord b) Lord Cornwallis ¢) Lord Curzon | d) William b | Lord
Dalhousie Bentick Cornwallis
82 | Simple | Ottoman empire belonged to
a) China b)Turkey ¢) Iran d) Iraq | b | Turkey
83 | Simple | Indian Constitution comes into force on
a) 26 Jan 1950 | b) 26 Jan 1946 c) 15 Aug 1947 | d) 15 Aug a | 26 Jan 1950
1950
84 | Simple | Who was forced to lead the revolt of 18577
a) Peshwa Bazi | b) Nawab Shaukat ¢) Bahadur d) Kunwar ¢ | Bahadur Shah
Rao Il Ali Shah Zafar Singh Zafar
85 | Simple | Which of the following countries does not share a border with Arunachal Pradesh?
a) China | b) Bhutan | ¢) Myanmar | d) Nepal | d | Nepal
86 | Simple | In Arunachal Pradesh, the river Brahmaputra is known by the name
a) Kameng | b) Subansiri | c) Tirap | d) Siang | d | Siang
87 | Simple | In which year NEFA was renamed as ArunachalPradesh
a) 1972 | b) 1973 | ¢) 1974 | d) 1975 | a | 1972
88 | Simple | Which one is the official language of Arunachal Pradesh?
a) Nyishi | b) Adi | ¢) Hindi | d) English | d | English
89 | Simple | The scientific description of a culture that an anthropologist produces from his/her research is
called
a)ethnocentrism | b)ethnicity c)ethnography d)ethnocide ¢ | ethnography
90 | Simple | Ethnology term was coined and defined by
a) Adam F. b) Etienne Serres ¢) Charles d) Franz Boas | a | Adam F.
Kollar Darwin Kollar
91 | Simple | In nature a mode or strategy for survival is known as
a) association b) artificial selection | c) radiation d) adaptation | d | adaptation
92 | Simple | Feminist anthropologists show that there is no difference between
a) Men and b) Women and girls c¢) Women and | d) youthsand | ¢ | Women and
boys men adults men
93 | Simple | A property given by a family to its daughter upon marriage for benefit of her new conjugal
household is
a) Gift b) Dowry ¢) Give and d) Marital b | Dowry
take property
94 | Simple | Gerontology is the study of
a) Special b) Tribal culture c) Aging and d) Deviant ¢ | Aging and
children aged youths aged
95 | Simple | Claude Lévi—Strauss is most closely associated with the theoretical perspective of




a) cultural b) social Darwinism | ¢) d) d | structuralism
evolution functionalism structuralism

96 | Simple | The sub-discipline of anthropology that studiesthe material remains of past human life and
activities
a) archaeology | b) physical ¢) linguistic d) cultural a | archaeology
anthropology anthropology anthropology
97 | Simple | Matrilocal families can be found among —
a) Santhal | b) Kuki | ¢) Adi | d) Bhil | d | Bhil
98 | Simple | Which among the following is not a component of culture
a) Beliefs | b) Development | ¢) Values | d) Signs | b | Development
99 | Simple | Slavery is a form of
a) social b) Social Change ¢) Social d) Social ¢ | Social
mobility Stratification Contract Stratification
100 | Simple | The example of open group is

a) class b) Caste ¢) Gender d) tribe a | class




